L. 4 { l
tnkasmu o \o(\e\n_,m

?Vk' Q. M")R Ve G UW\MI 2

o0& \@\ =Kt DX

A2y xelR® <xel \
>
0o = Olax ox)) = (etm) »2(aw)

= KA (K\-r?,xt\
~ o G(%)

A\M, a /\'t Lu\ :)—Olc&a_o_,_«__) )
[‘ -

?E_— xR R
Q(x) - = X~+$@

Ad 27 ReR |, e

PR

O (o7) = BB, xm)) == (ay) Hoe) ~ 1

~ < (K\'\'KL’_ 'lj

S . r’ ~ A




pope . A=2  x=3 + O(2.5) =~

2.a(5)\ =2 (0+O-~1)="2
. GRS O(x): =si{—x

—

MT"/\ <',C-(><—\-a7 -+ <lw X "i'gk\uk
(1

Clw Ku;ca FC O X S‘J\,«A’

( I

NQ/LN\ ((/\Iv\- %(ﬂ""m’u"’\ :

.09 P Opl) = ()

Ol 0w pagx t a x?) = Aq 22X

— —

&0[ 1 ?(X‘),”r(*)e?L

0. (G + 90N = Gea) ()~ T+ ¢

= a(p() FQA (5
AA Y PCX\G?Z ?o{C/R i ?{\>/

Q(@p)(xD) = (*pI () = & P/
Daetns e Q—M\chg XQ L\M\ | = K'OL(\)?(«)F/

Cr aua
\

LS ”
0 e O(p(eY) - - gf(&)dx

Ad(\r ?\q’c‘?l
(I 1
(61020 = (Tote)ra ] dx < (Gdy



~ \ 4 ) ~ L] v [ > N
N / J )

g f;{%(‘()d/:

M2 weR L pCoreq, ~46) +agy)
a q
Q(GL?WGO) = ﬁ Xo(x)dx = « (‘o(xbfx
o ' | —= &< A(3p00)

—

?«k' u\mrs/%\w; i Ag@mxm

O RTERT e [@=AK

Ad 1~ g(‘g efie™
A=) = A 7)) =BD+R7)
= A
Aod 1y aelR (xe2™
Aoy = A (x7) = - (AK)

“— cd-a(gw\/
\A(/lo ) M&t(')DD_l/VU\ /\MO*JAC/)\ ™ ‘M»v\'(
)

\ (SRR N




\ XA QY O WNA LAWY VW DAV )" J

L/
P& chivw\a«\ {"o‘l‘ﬁc/{,

. 'S

I S
er{ ' <Xq%'t‘ ?(7_3

= @,na\ﬂ' Siw &) (x+ x)

\

= G ol Wy~ Stk Xy & ((.<9£..~ol-1r,, 7 o)

—

Yo = LoD K- &y T Se-dxy — {&w(,%t‘»«&fi ~
- X

~~ A

\ ( ~
_ BT X
\ ¥ é,)o( = “m — al a‘__
‘ TRl Ix0- U
o




LS . Roluna mﬁ ve Lo sbe,
@y
@(qqu\.-kozmzm :dna(6)+-- —)—XV,Q/QT,,>

T Uetels &((ﬂ)\uﬂ O RTo R el

e Wl q(4) = v , a((9)=-1

AN
s — e () LC‘_L.Q 7/2_Z

/

&< (ﬂ\ - &(6@(;) *@X;D — . Q")+ QL)



, |
\
1. Hude— Ay oy € ) o

1 2 '_ f
0(.\<0) {—0{1_((]>—<()~) =D °<\2°<’2:/)

—

zoo() =ra(d)c1a D) =11 1oy = 6

—

Y. &(Qf;\’-? yLﬂ(-« O Xe e M.oé.-a,a

P

bhe (M) = {r) A1) (1)
a(D)-a@0) @) - @ 3) @2

9. WA"M 0(,\0(16'27
1 " c
2] vt (3)
1 9 k 2 . - 4 ’\(l —%
"ot v O ~2l A/ & o=l

o= £ ) = ()= ()

e——

Fopsticle 0-+) [l & 2R (e
QA)MQ\(\V\A\ o \SL Uch.\QA«o &(44_,( NS 3

2 )
O(x+a™) =5 a(1ee) .- &

q . M&A;vv\ D(n Y PN I pP S



A S Tl

fee@: oy (193 4+ s (re™ rohy (Trx™) =177

K9 o(q_vo(,)
1 % R < 1T 91 g 10 1]q
X 1 0 | O |~ae~|o0o (] ~1[-1] ~[0a-1]q
LoV 0 U o@q_\_ézoozo
Vot K= 0
2 -10.5%

0 &(4~><L =1. 2" 7 ’“0"} e <teld
/_: q - ¢ 4 1.~ Xa =1

] 6 =

BV ohih m\uxa Xept a@:};z3
bde O SL Lin . aobrae . aodd s

at) -1, G3):=-7
&) = A (3) v oals)) ~ ot 1+ 0 (N =2

S
4. Weddn 2y oty € P

0<4~o<,._~—2(

Vere . oo ’-‘—‘t C-[a

—




Pogpsbele sy 5019 rc) =1,
QLO(‘Z &@LQL L/\‘V\. ?«okﬂ\. M,\’Crw\OGI\O/ZQ

D 0o, Al = abed)-

&(foﬂ = O\(oz‘('lu\ + olq,(’l'rx") +-o?;s(‘<’r?f7'?>

2 4

2@‘“‘3—‘ Foha ¥ ky g = 4\
(
4%4aw OL’HO(L;OM@ET

g-J-Lh—,.J _\_S.

m] %)

Y



ﬁ_"‘\“"sV"LTgo(g'-—'l

’PcwewLlvxg-zlv)'s“-t>(fS = f E‘R
A= sef

s\keh
el 660" 100 (100
\
.
(Sardx = 31270 3t 32
’ =1
NE 22(a) Al ) A (A)
P Tl Adee L Aol @ (4,1 -~
a1, -0 - ”l’@
m(@): Wdd—  xeR® . o) =0
1. *y (oo @UC - 0(,\~@ +0(L'E] = O
ot~ Tt ch
X4 — €
\;—‘- Xq \'\\H&(“,):{-(’l) t(fq)”—f'(g>



e v(@) L A (@) =d(Q) =

j:

’Q{(Q];E ) /04((4) = "‘N‘@ ) Ala) —2-1=79
< d/—\/"éffcﬁ

-

A- Kg ',,‘\ , AR =AL et R

a 2 A a \
(»\ a o) eoq (o 2 A L_/};‘y
m(a) © |d(B) ~ die®F) ~ /&(&7 -1~ 9
Yoo m(a) = 13Y

GL\M’%/U/ ..Q/:v\.'l.ch,

_ a
ue’lA E}J ( )-,{CQ

E —
\\ 2 ,L— - -+ Aaakan

Q) = 0@+ - taudn) =— L,0(T0) 4 14, A

[O\(fﬂ—] [0( A@) + - + e a((««\]
| ool g e

F



) V-
o [a(&)] - v an [a@] r - + «Jale)

€M™~ e R~ ER™™

- < (o, fo@], . - (6@] >

\]\Yot[—:L— AE e L_&WOALCXA/’((A/\ IDOSM-—(J/\

3(6")_

Es ';(C)\(%?\(%ﬂ \E'L";(G))’ (2» ‘
0 = (yr e -

™. —u—

v Ag e ke F= (), (D)

)

Y

0.:

_>A

Y

r.)
/_\
XA
~——




- (L6 e, feaT,)
ki g N\
wd,,oz%_eﬁl'; Wad Xﬂ&tek
Aq ﬁl) +o{t(—1)° g> (/\) 1\~ /[
008 el
NN \(‘ A “"> R r~J<q @(q "\ "’\>~
@ Ao 8 v/ e 2l o
/lz\abrEL Vaot= LV T
2 o0 fa 2 -3\ /"
~ 0 ~?_k -\ 0 l) /(’VL\
A o |V A P )
-~ (O A {’1/7_ ) e
3 Moo
e (. RO R PR Ex= (1% x5 %)
19 97"‘&(’3(@ Bg (Eo =" Tz = <4"\‘f?‘13
L Pl DL e ademieod ?a(‘o”'"’g*‘z*z’é

tst

Dee ([T, T 60T, 6D,

/ r‘A.-\ r“r-‘ — /M r,'. n") N




(L /(_"L__/ & ) -
o 1 O O

:(O 0 K OT
9 o 9 >

. 1) (o ©22\(&
{?3( ﬂt D@,EL (’{) ) (2 §120 {>(l%>

?sr(ﬂ = ~bx +6x°




